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                        Mathematics Department

October Assessment Revision
Limit
1. A sequence is defined by Un+1 = 0.35Un + 3.

a. State why this sequence has a limit.

b. Hence, calculate the exact value of this limit.

2. A sequence is defined by Un+1 = 
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Un + 2.

a. State why this sequence has a limit.

b. Hence, calculate the exact value of this limit.

3. A sequence is defined by Un+1 = 0.55Un + 7.

c. State why this sequence has a limit.

d. Hence, calculate the exact value of this limit.

4. A sequence is defined by Un+1 = 0.14Un + 8.

e. State why this sequence has a limit.

f. Hence, calculate the exact value of this limit.

5. A sequence is defined by Un+1 = 
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Un + 9.

c. State why this sequence has a limit.

d. Hence, calculate the exact value of this limit.
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